How ¢id you wrte the ordar in
quastion (1¢} In coda?

You might have written
J+sTosS+sR«HR

A shorer way s
JseT+S+2R

An ceder of 25 teaa could be wiittan 35

T o T o T T 4T e T aT o T+TaT4+T4TaT
e T AT+ T e T e T aTaTaTaTeTeT T

or 257

Tha sacond melhod 5aves time

R

One roll, zic sandwichar *we feax
Ordem J £ 2
four coffees and one juice
oo R« 65+ 2T » 4% + J
Eatin ™ o+ 6285 « (2240} + 4255 « TO
Cost -« '+ 5 + 80 + 200 +70
- Up
- £R99
Tako-Awny T0O o SxH0) « 2235) « (4245 + &0
Cost -7 + B0 « YO « W 4D
- B50p
- 5000

2. Caculate the Est-In and the Take-Away cost of [ne
Sallowing three orders!

a) Five coffecs, throe teas and faur biscuils
b) Thres [LWcos, wa toas, four ralls and ane sandwich,

c) TS+R+5T+y



